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— 9912 177 DR NYan Bya uwd
The homeowner stretched out his hand, etc.

OVERVIEW
moon discusses the seeming duplicity in our 71wn regarding the 70137 XX17 of the
"1v and the 2"nya.

n1voIN asks:
— 20 Y27 297 NN 2INNY PPN INNAN PNHY 129D NN

The 5"'1 finds this astounding! Why is it necessary for the 71wn to teach us two

cases of 7010M AXX17 both by the 51» and by the 2" 77w3?!
— 5521 Y27 YT DNV Lowi x,a 97 RN YIDNT MMV W92 1Y

And similarly in the beginning of myaw ndon where the X923 explains, ‘two

moxYn (which are xx17) of the "1y and the 2'"'71¥3, which is ¥27% (the 2"Aya7 *397 70197)
— PYY Y D1 %Y Y NN DINY IMIPY TV In

How can we refer to these nmXx17 (or Moidn) as two NdDXYM; what difference is
there whether the %1¥ did the 770x8%2 or whether the =2°2¥ did the 7x1?!

N1D0IN answers:
— NY A DAND ANSINT DIV 1OYNUNRY THI0LNRT PNYS 195299 AN

And it is the view of the "' that it is necessary for the 71w» to teach 7015m XX
both by the "1y and the 2"77v2 since IR is an inferior 7o8Y% —

mooIn explains the inferiority of X¥1T wherefore it is considered a 7173 7oR77:
— 2PM50 MWD TINN MW RIS 9 NN D290 MYIY TINN MYN NININ D NNY

For what difference is there whether one is X% from a ''719 to a 2''719 (where

he is 2°°11), or whether one is X33 from a 5779 to a 3'"'779 (where he is Mwd). Therefore

since FIRXIT is a 7Y RN -
— 3% 5’20 Hya XYY N%2N Jyan YT ANRIN 19999) NN XD

So we would not have derived %197 aRXY7 from 2''77v27 XX and neither would

! The first 71wn in My states ¥27X 17w 2°nw Nawn MR (and no more). The X713 there explains that this means
2"7Y2AT 7015 "IWT 10107 L,V 1AW ,2" VAT AR CIWT ARYT 0N,

2 There is no more work accomplished in one over the other.

3 Had the mwn taught us only 2"7v27 nx¥17 (for instance), we may have mistakenly assumed that (since this is a
bizarre 7oX91) you are 211 only by 2"7va7 AX¥7 but you are M09 by 2197 AR¥17 (just as you are 1w for "non aKR¥IN
"71%). And the same holds true for the reverse (P17 Axx7).
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we derive xx17 of the 2''7wa from %7 xR

m»on will now prove his contention that we cannot derive the two mxx17 from each other:
— SANNYIND NP Y9N PIVYINTI YT

And you know that indeed this is so (that we cannot derive *1¥ from 7°w¥ and vice
versa) since two 25100 are necessary to teach us the M0°R of 7R NOXYN

M1dOIN cites the two 2’100 that teach IRXIT MON:
— X211 DYN NI (0w 3,98 97 1apy) PN YW 1D NP9ITH

As we derive the 7X%17 0°K in the beginning of 23177 219 from the P05 of K999

N27% Qva; this is one 2109 -
— NIINN RPN 17 XPOI (3, 97 12219297 XNIP 799 91029

And in the end of the first pap of 1219y noon we derive XX NOXYH from a

different PoD -
— YWD SONHI NOYY IN 711D WIN NYO N 130WHTT

for we interpret the P05 of 2Ipnn WIR XX B to read Ipnn WX XX X and

there in 1217°v I explained that we derive X171 from the P09 of XY 9X.
— VYY1 YT 1N 1NN TPIONIN N AW MANYNT OIVN 1M

And the reason for two 2°P109 is because XX is a Y3 789, therefore both
0’100 are necessary, one for 217 X317 the other for " w7 Axxn.’

There is an additional consequence, since fRXT is a Y1 7IRN:
— 7253 MAN NIN 19VNA XY 12WIN XD MIONIN MANT M0 Y53 199

And similarly, regarding all the m7%1n of the various nI9X®» nN1ax we are not
concerned that the M771n should have been in the j2w», rather we require only
that the 2R were in the 1own -

4 The two ¥ are different; by the 1"7va7 1817 the X°¥M™ is standing in a *"77 and by "7 7817 the XXM is
standing in a 7"717. We could have thought that this can make a difference whether there is a 211 or not.

3 See ‘Thinking it over’ # 1.

69,37 (9pm) Mnw. The X3 in P interprets this 7109 to mean that the people did not bring any donations on naw
from their houses (which is a *";717) to the 22 (who were in a 2"717) for the 1own (see footnote # 9).

7 13,10 (M9w2) NMmw. See previous (A7) MXX> 7"7 MoON that this 7109 is understood to mean that one should not go
out with a 73 from his tent (which is a >";17) to collect the 12 (in the 1"77).

§ (1107 217p) WY "7

9 mooIn does not specify which 2109 refers to which X%, The w"R17 Moo states that the P109 of XY X refers to
2"7va7 7837, while the P09 of X937 refers to w7 axxy. [It seems from w"R73 N0OIN that since 7wn made his
announcement (not to bring any more mM2a71 for the 12wn) in the 7% mamn which is a 7", the "33 who heard this
announcement (standing also in the 1"177) refrained from taking out any more items from their houses to where they
were standing in the 1"777 — which is "7 aR¥7.]
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— ()% 97) PN INT J9YNI XY 192¥a ANKINT MTINI)
However, regarding the m791n of 78317 we do require that they were in the

1own, as the mwn teaches in P17 P70 —
— 9709 1Y 111 PN VIYIIN IT 119 1 MNIVIND INY

‘Two porches that were opposite each other (on two sides of a 7"77), if one

passes or throws from one X2ur1a to the other, he is 91D, however -
— 1095 H1aY NN TAY 25N VIYINNY NV PNTH HNN XVPTA 11PNV N

when both nIX=uT» were on the same side of the 7"170, if one throws from one
X707 to the other he is 7wy, but if one passes from one X 0N to the other he is
2o, for this was the manner in which the 291 served when loading the 2*wp.!!

It is evident that only the 717910 which was in the 1own is 211 (which is X XV172 VW), however
by P77 or 1"77 °7¥ '22 PN v he is MWD because there was no such 72877 in the 1own.

Mmoo offers another proof that the M7 0 of XXy are required to be in the own:
— 173 D290 MY MNN 7T PN S¥2 ) (3,00 11 oy PN YWD

And also in the beginning of P77 P79 the X3 queries from where do we

derive that one is 211 for throwing n¥aR '7 in a 9''779 -
— 195999 XRNIYN DN NV NN 7T DD PIONT 1Y 19UNI 1NINIYNY PINT

And the X3 vigorously attempted to find a case of X"7 P77 in the jow?; until
the X773 concluded (when it was not able to find such a case) that the entire law of
2""1772 R"7 is derived from a >»on qwnb Y. !

mooIn concludes his proof:
— HNNX 90N /N ROX MAN PRY MAN XD 1129 IRHINT NT9IN YN D9y

And all these (X" vw) are MT72In of 7XXT but not max, for the nax are
limited to thirty-nine, and nevertheless it had to be found in the 1own; proving that X%

19 There were four 23y which carried the o°w1p. When loading the 2w=p onto the M2y, two M3y were adjacent to
each other and the other two M3y were in front also adjacent to each other (like two double parked cars) in the 2"71.
The o°wp were first placed on the rear M7y (this is 701377 from the 1"77 to the °"71 [the 723v]), and from the rear
M3y they were passed to the 793y directly in front (not adjacent; in our example from the car parked in the rear to
the car parked in front, or from the rear double parked car to the front double parked car). There was some space
between (all) the Mm%y which is "7 vpap. When passing from the rear 793V to the front one, the »12 was "nn v
"717% (the two NY2ay) 1"737 717 (the ¥pp between the nY2ay).

1 nax XuPT2 19"77 777 0" "0 vwn is a 7790 of ARYYT and nevertheless he is 20 only because it took place in
the 1own.

12 This proves that 7"7172 X"7 P17 which is a 77710 of XY would not be 2°°1 unless it was in the 1own or alternately
(since it was not in the 1own), because it is a #"n%27. There can be no 211 based (only) on its similarity to Axx7.
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(since it is a YA 70K97) is different, and its M7910 must have occurred in the 19wn in order to be
271,

Mmoo offers one final example where a 77210 of 7IR¥17 was shown to be found in the jown:
— NYY YPIPN OIVYIP 1IYN BN (3,01 mpY) 1INV N1DI P92 1399IN 2 NDIN YaN

And regarding 701577 as well the X2 states in P A»a P9p, ‘the 0% raised

the 2°21p from the ground (which is a 7"717) to the wagons (which is a >"77), so -
— “PNN NHIVAIY D297 MY 10250 IX NN N

Also you should not bring in objects from a 9"'719 to a >''719.” Again we find that the
X3 associates a 7720 of XY with Jownn noxon. 13

In Summation: IR¥IT is a AYI 79K (since "1 "% "an XXM 9 an) and therefore; a) The

71wn needs to repeat (701577) XX by the "1v and 2"7v3, b) two 2109 are required for "1y7 AR

and wyT IR¥17, and ¢) the M72n of AR (i.e. VWM and no1d7) are required to have been in the
4

Pwn.!

n1voIN asks:
—J2YNn1a NAN*N NYIINT 11723 9NN ON)

And if you will say; since ;7791577 was in the 32w (as previously noted) -
— 9953 55 193 YPION O N9 NN NI2DT YWY (35 91 PN 1IPY IN 798 DN

Why was it yet necessary, later in 9117 299, to explain that we derive the MoK
101271 logically; for what difference is there whether an object is taken out (from

a °"71 to a 1"77) or whether it is brought into (a "7 from a 1"71)? This logical

derivation is seemingly unnecessary -
— DP9 NN MN 1IYNI NY NNIWN NN INT ¥NRWN 02290 MV NN 71 PINNT

For it appears that regarding a 2"792 n»R 't P97 if we would find that it

occurred in the 32w it would have been sufficient reason to hold him liable -
— N920 NX9*Y 0NNYT ) Yy 9N

Even though there is no logic why x"7 P17 should be 2°°1; the mere fact that X"7 P
occurred in the 1Dwn is sufficient, the same should apply to 110157. Why was it necessary for the
X773 to mention the X120 of Y21y % 1372 *PdX M 71?!

Mo0IN answers:

13 See ‘Thinking it over # 3.

14 The commonality among them is that it is difficult to derive any laws from 7X¥7; it cannot be based merely on
similarity for then >"737% > X*¥% should be 21 or 1"77 777 °"737% *"77n 7 should be 2>n, therefore the 77N has
to specify which axx7 is 21, the mwn has to specify whose X171 is 21 and all the M0 must have been in the
Wn.
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—19VNa MN XYY 12N HYAT NDIINY NIAD TIIVNINT 91299 YN
And one can say; that the 8720 of "1 19X *% 71 was necessary for the case of

2'"nwav o157 which did not take place in the 0w -
= £390 MY NINY DY 1N ¥PIPA RNDNDNT YT NN 13991 D10 DIVIP I¥N ONY

For the occurrence of "> @swap 2w 277 that is an example of “1p7 791277, since

presumably the 017 were standing on the ground which is a 2"79,'S and they
passed the o°w p onto the M2y, which is a >";77.16

mooin asks:
—17)5Wna NN NDIDNT 919512D 1232V NN TPIVNIN INNAN NIAD NIINT 199 9NN ON)

And if you will say; since there is the X720 of "2 PR % 7, why was it
necessary for the X7n2 in 193110 772 P79 to say that 701577 was in the Jown?!

NIv0IN answers:
— 5975 INONIN HN DNNY NYIPN DIWAP 11NN 0N S31NY SPAT 1N 159 NINT 1Y Y

And one can say; that the Xn»=2 mentioned "> 2w p 177 07 (to teach us 170157
[*197]), since it needed to mention ‘they lowered the 2°w=p from the 7793y to the

7"77, so you too should not take out, etc. (from a >"77 to a 7"71). Therefore since he
mentioned X7, the X1 mentioned '® 701377 as well."?

mooin replies to an anticipated question; why was it necessary to mention XX in the Xn»72:
— 19UNA NNAY 2N PHIVIN 2ONTNA XIPN 1D PO INNINT ) HY 9N

Even though we clearly derive X247 from a ?109; nevertheless it was necessary

for the Xin to teach us that 11XX)7 was in the 39w, The reason is that -
—19UNa NNYN N2 RYPIY NINRYN J¥ NN 19290 PPN NI NYIIA 5INPT 0IVN

Since the N> of the Xn»m2 (which stated "1 2wp 2vn o) states, ‘one is not

2% for n2w 9121 unless he did a type of 719852 which occurred in the Jow -
— 11999 NANDNY MNMITH MANDM Y92 29NN 1NN 1aWNA INKIN N¥IN 7PN XY ON)

15 They were (presumably) not standing on the m?3v (which were ten onov high) and picking up the o>wap (which
were ten N»X long) from the ground.

16 This is the case of "7 170137 where he is standing in the 7"77 and handing an item into the >"77. There is no known
example of 2"71v27 70107, Therefore it was necessary for the X3 to offer the X720 of 13 5p1wKR *H 1.

17 We derive 2"ya7 10107 (which was not in the 1own) from a X120, the same should apply to *1¥7 70137; we can
derive that as well from the same X720! Why is it necessary to mention that it was in the 1own?! See (however)
‘Thinking it over’ # 4.

18 See ‘Thinking it over # 3 and footnote # 26.

19 This seems to indicate that we can derive 10157 (both 2"7vaT *2w7) from the X120 of "1 °P10X *2 7w, however since
it was necessary to mention 1R, the X112 mentioned that (*1v7) 7701277 was also in the pwn.

20 ax¥1 noR7 is derived from either X¥> X or from X*277 0¥ X92°1 as mentioned previously in this Moo,
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So if the Xin would not have shown that IXX¥7 was in the jow»n, we would
(mistakenly assume that one) be 3% n% for any mo8%% which is similar to a valid

FTORD -
— ANYIND 195 12WNa NN NOY 29 DY 4N

even if it was not in the 5w, as it is by IRXY7; for which we are 211 ([since we have
’»08] even though it was not in the 1own).

nooIn responds to a (final) anticipated question:?!

22559NN XNDY 199U9T 71N 19UNN NINYNY NAYT XIP TIONT N
And the fact that the 202 of naw MOX were adjoined to jownan noxbn, we
would have interpreted this adjoining (if X7 was not in the jown) for
something else, but not to teach us that naw nMox7 had to be in the 1own

SUMMARY

TRXT is a Y13 7oR9A. There are therefore two 22109 for 2"vaT *1w7 AxxII. All the
M0 of 7R need to be in the j1own (besides [2"nv27] 701077 since there is a
compelling X120 of *21°¥ % 7M1 "PIdR °7 n).

THINKING IT OVER

1. mooIN proves that ARXIT is a AN 79X since there are two 2100 for XY
Seemingly nMo0In could have proven that 7X¥)7 is a Y173 79891 from the mere fact
that it is necessary to cite even one 109 for X¥Y7; there is no 109 for (most of) the
other maxon!2

2. moon offers proofs from three places that the 7710 of XX were in the 1own;
from a) v’ww, b) 7"772 X", and c¢) and 70157, Can we explain this order (and the

2l The amin writes in 7-8,% (77p") MW regarding Naw MOR and then immediately continues with 9wna naxo?».
[Similarly in (-2 ,&? (Xwn °2) mnw, immediately after the 70 relates all the 19wni *93 in the previous two mn70 of
7m0 and 730, the 7730 warns concerning naw nnw.] We derive from the n13°10 of naw to 1ownn noX» (See ~"wn
927n °7372 1"7 8,7, and 720 73"7 2,0 °"wI) that one is liable only for those moX» that were in the 1ow» (and their
m721n). How can mooin claim that if A% was not in the 19wn, we would have included other n158%» that were not
in the 19wn; when we have this 7w7 of 19wna NaRo1H naw mM>*o?! [Incidentally this 7w-7 of Mo is not found in
the &7mx.]

22 However, now that 7X¥17 was in the 12w (as well as the other MmoX>» which the Xin enumerates in the Xn™12), we
assume that the M0 of N2W to 19Wn7 NIR?M is to teach us that we are liable only for max?» which were in the 1own.
23 See footnote #5.

24 See [TRA] X",
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reason 11031077 was added [as if in an afterthought]) if we assume that n1901n follows
the strength of the validity of the proofs respectively.

3. n»doIn third proof that the 77910 of XX has to be in the 1own is from the Xn>>72
which states "1 ow1p 17w on.% Seemingly we can refute this proof, as msoIin
states later,?® that the (only) reason the X012 mentions 7701577 is >T”X because it was
necessary to show that 7XX7 was in the 1own. What therefore is the proof from 27
1%v77 that the 77910 of XX (which is 701077) must be in the 1pwn?!?’

4. mooin asked since there is the X120 of 131 *PdX *% 71, why was it necessary for
the X3 to state that [>7] 70107 was in the 19wn??® Seemingly we could answer
that if °1v7 7701277 was not in the 1Dw»n and we would have to derive 2"7v271 °1v7 170137
from the X120 of *19X *% 17, then I could argue that we cannot derive a IR 77210
from a X120 if it was not in the 1own. However now that 17 1701577 was in the 1own
(this is the "211%¥77 on7) and we know 2"7wa7 axxT and *1v7 78¥17 from 2’109, then
it makes sense that we can include 2"7v27 701077 as well, from the X720 of % 1n
PR

5. Why is it that that the X720 of 1y % i1 WY °% 11 can be rejected since R is a
TY1IA 719897, however regardless that it is a 73173 719X we can include 170157 with
the X120 of 217y % 11 PR 5 An?!1?°

23 See footnote # 13.

26 See footnote # 18.

27 See [1I8A] X" and 70197 223 191 7K1 772 270 S,
28 See footnote # 17.

2 See mana MR
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